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1. The values of 15 numbers are 15, 12, 5, 5, 12, 13, 10, 5, 8, 5, 5,3,15,15,7 Find
(@) the mode of the numbers,
(b) the median of the numbers,
(c) the mean of the numbers.

2. The mass, in grams, of 30 oranges is

154 162 158 172 166 181
170 124 134 162 155 166
144 174 157 165 162 156
163 162 164 162 171 153
126 163 133 161 158 162

(@) Draw a stem and leaf diagram to represent the above information.
(b) Hence, find

(i) the modal mass of the oranges,

(i) the median mass of the oranges,

(iii) the mean mass of the oranges.

3. The dot diagram shows the results of a math quiz given to a group of x students.
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(a) Find the value of x.
(b) Given that maximum score is 5, how many students manage to score a pass of 50% and above?

4. A survey is conducted to find the number of hours that a student spent on watching television drama. The result of
the survey is as shown below.

2 1 4 4 4
0 1 1 3 3
3 2 2 3 0
0 0 0 1 -+

(@ Draw a dot diagram to represent the data.
(b) What is a possible reason that some students had 0 hour?
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7. The stem-and-leaf diagram below shows the time taken to complete an assignment.

Stem | Leaf
I e T s JE el R TR e
12{0 0.0 1 1 3 4.5;7
13/0 4 5

Key: 15 | 4 means 15.4 minutes

Find

(@) the number of students who had completed the assignments,
(b) the shortest time taken to complete the assignment,

(c) the most common time taken to complete the assignment.

8. Kenny was being introduced to a game called ‘Floppy Bird’ and the result below showed the number of stage he
had reached in his first 20 tries.

3 14 20 5 13
10 23 18 9 14
17 15 8 16 &
14 13 12 19 16

(@) Draw a stem-and-leaf diagram to represent the above data.

(b) If Kenny reached stage 10 or more, he will be awarded a medal. What is the percentage that Kenny would be
awarded?

() What is his highest stage that he managed to achieve?

9. 7 students took a quiz. The marks obtained were 1,8, 5, 6,2, 7 and 6.
(a) Find the mean mark.
(b) Find the modal mark.
(¢) Find the median mark.

10. A survey was conducted on 14 students on the number of magazine that they had bought. The result of the survey
is shown below.

10 13 13 15 ) 9 12
8 12 14 10 11 10 10

Using the given data, calculate the median number of magazine that they have bought.

£~LEVEL2

11. The table shows the number of spelling mistakes made by each of the 30 students in a spelling test.

Find
(@) the value of w,
(b) the modal number of spelling mistakes,

() the median number of spelling mistakes,
(d) the mean number of spelling mistakes.
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12. 4 objects weigh 1.5 kg each. Another 5 objects weigh 1.4 kg each. The mass of one other object is x kg. If the total
mass of all the objects is 16 kg, calculate &
(a) the mean mass, : (b) the value of x,
(¢) the median mass.

13. The number of goals scored per match of a soccer team in 2006 is recorded in the table below.

10 12 4 X 3 2

(@) Write down the minimum value of x if the modal score is 3.
(b) Write down the value of x if the median number of goals scored is 2.5.
(¢) Calculate the mean number of goals scored per match if x is 4.

14. The dot diagram shows the number of storybooks owned by a group of students.

(a) How many students are in the group? e
(b) Find 8. 0 B
(i) the modal number of storybooks owned, ot SRS,

(i) the median number of storybooks owned,
(iii) the mean number of storybooks owned.
(¢) The mean number of storybooks owned is 2.5 if two students are removed r—t- ———t

from the group. Calculate the total number of storybooks these two students O A, L 2 4. .9
owned Number of storybooks

15. The number of days that each of 20 employees was on medical leave a 6-month period is shown below:

1 2 5 0 3 4 5 3 2 1
2 5 2 -+ 1 2 0 -+ 0 z

(@) Draw a dot diagram to represent the above information.
(b) Find
(i) the mode of the distribution,
(ii) the median of the distribution,
(iii) the mean of the distribution.
(¢) Calculate the percentage of employees whose days on medical leave is more than the mean of the distribution.

16. The CIP hours of 25 students after the first semester are recorded below.

3 0 3 2 1
1 1 2 3 3
5 1 4 2 0
4 5 4 2 4
2 3 0 1 3

(@) Draw a dot diagram to represent the above information.

(b) Due to a calculation error, the CIP hours of all students who have done CIP for at least 3 hours is over-reported
by 1 hour each. Draw a dot diagram to represent the actual CIP hours of the 25 students.

(¢) Hence, find
(i) the actual modal CIP hours, (ii) the actual median CIP hours,
(iii) the actual mean CIP hours.

17. The meanof 2x + 5,3x-2,4x -1 and x + 10 is 4.5.
(a) Find the value of x.
(b) Each of the numbers is increased by w so that the mean is 6. Find the value of w.
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18. The lifespan, in days, of 100 bulbs is given in the frequency table below.

100<x=<120

120<x <140 w
140 <x = 160 24
160 < x = 180 35
180 < x <200 17

(a) Write down the value of w.
(b) Which class interval contains the median?
(c) Estimate the mean lifespan of the distribution.

19. The frequency table records the number of movie DVDs borrowed by 50 customers from a particular automated
DVD outlet during a 1-year period.

20 p 14 q

(@) Show thatp + ¢ = 16.

(b) Given that the mean number of DVDs borrowed is 4.4, show that 2p + 3q = 45.
(¢) Hence, find the values of p and q.

(d) State the median number of DVDs borrowed.

20. The values of 5 numbers are 3x” + 2, 2x* + 1, %, 5x* + 4 and 4x® + 3 where x is an integer.
(@) Find the value of x if the mean of the 5 numbers is 7x.
(b) Find the value of x if the median of the 5 numbers is equal to 5x.

21. The distance in km travelled by 20 adults to their place of work is recorded below.

12 41 30 6 11 29 &7 35 8 12
18 19 27 32 14 19 35 17 38 Z3

(@ Draw a stem-and-leaf diagram to represent the information.

(b) Write down the median distance travelled.

(¢) The distance 41 km was recorded wrongly. If the actual distance is recorded, the median distance travelled
will be 20 km. Find the actual distance travelled.

(d) Hence, calculate the actual mean distance travelled.

22. The test marks of 24 students are shown below.
68 62 71 80 45 55
48 55 77 62 82 56
63 e 64 88 67 47
63 76 78 65 65 63

(@) Draw a stem-and-leaf diagram to represent the information.

(b) The minimum mark for a distinction is 75 marks. What fraction of the students scored a distinction?

(c) If the test mark of one more student is included, the mean mark of the 25 students will be 66. Did this student
score a distinction? Explain your answer.
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23.

24.

25.

27.

28,

The values of 7 numbers are 11, 23, 32, 16, 19, x, y. The mean of the 7 numbers is 20 and x : y=5 : 8.
(a) Calculate the values of x and y.
(b) Hence, find the median of the 7 numbers.

The values of 6 numbersare z—-4,z-4,z,z-4,z+ 5,2+ 7.
(@) Find the value of z if the median of the numbers is twice the mode.
(b) Hence, find the mean of the numbers.

The 6 numbers below are arranged in ascending order.
x=2y,4x -3y, 2x+y,2x + 3y, 4x + 5y, 5x + Ty

(@ Form an equation in x and y if the median is 11.
(b) Form another equation in x and y if the mean is 13.
(¢) Hence, solve for x and y.

The scores, to the nearest 10 points, of 50 participants in a dart throwing competition are listed below. The unknown
numbers x, y and z are not 0.

40 50 60 70 80 90
6 14 X g y Z

(@) Find the value of x if the median score is 65 points.

(b) Form an equation in y and z.

(¢) Form another equation in y and z if the mean score is 65.
(d) Hence, solve for y and z.

A group of working adults was surveyed to find out how well they sleep
on weekend nights. The pie chart shows, correct to the nearest hour, the
hours of sleep of these adults on a particular weekend night.

Find

(a) the value of y,

(b) the modal number of hours of sleep,

(¢) the median number of hours of sleep,

(d) the mean number of hours of sleep.

The height measurements, in centimetres, of 20 primary three boys are recorded by the PE teacher and shown
below.

128 124 139 148 159
129 118 123 196 158
145 159 127 143 139
116 113 139 139 148
(@ (i) One of the measurements is recorded in metres. Identify the measurement and rewrite it in centimetres.
(ii) The height of another boy is measured wrongly by an additional 40 cm. Identify the wrong measurement

and write down the correct measurement in centimetres.
(b) Using the correct measurements, find the mean height.
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40.

41.

42.

The table below shows the number of times students log on to social networking platform in a day.

10 14 X 9 3

(@ If the mode is 2, find the smallest possible value of x.
(b) If the median is 1, find the largest possible value of x.
(©) Find the value of x given that the median of the distribution is 1.5.

The back-to-back stem-and-leaf diagram below shows the test results for the subject of Mathematics and Science.

Mathematics Scores | Stem | Science Scores
8 6 3 3 0
L e S A | 4 8

9 Binid 12l 5 2 aldentnl 9
8 6 4 3 6 11 2 3 447
6-2 7 6 T 8
8 o o

Key: 4|9 means 49 marks.

(a) Find the mean scores for
(i) Mathematics, (ii) Science.
(b) Which test is easier? Justify your answer.

The distribution below shows the results of a science test taken by a class of 15 students.
14 39 37 18 28
42 21 14 32 35
25 47 7 40 23

(@) Convert the data given above into a stem-and-leaf diagram.

(b) Find the
(i) mean, (ii) median,
(iii) mode of the distribution.

The bar char below shows the number of goals scored in each game in a soccer tournament.
/
4 ] =

Number of
matches

‘ I . Number of

N i SO ST e

Find

(@) the median number of goal scored,

(b) the modal number of goal scored,

(¢) the mean number of goal scored per match.

Data Analysis w




44. The table below shows the Prelim aggregate score for English for a class of 40 students between 1 to 3.

2 3 4 5
x 11 6 y

(@) Show thatx+y=17.
(b) Given that the mean aggregate score for English is 2.8, show that 2x + 5y = 49.

(¢) Hence, solve for x and y.
45. The data below shows the number of days students are absent from school in the year 2013.
2.2,1,1,2,4,5,5,2,4,3,4,1,2,3
2,6,5,4,0,3,2,1,0,0,2,6,4,5,3

(a) Construct a bar chart using the data provided above.
(b) Find
(i) mode,
(ii) mean,
(iii) median number of days that the students were absent from school in 2013.

46. The table below shows the score from a 6-sided fair die when is it tossed.

(@) What is the maximum value for x if the modal score is 2.
(b) Determine the value of x, given that the mean score is 3.75.
(¢) Find the maximum and minimum value of x if the median score is 4.

47. The class frequency table below shows the height distribution of 80 pupils.

105<h<115 | I5<h=<125 125<h<135 | 135<h=<145
15 20 30 15

(@) Find the median class interval.

(b) Determine the mean height of the 80 pupils.
(¢©) The data as shown in the above table is to be represented by a pie chart. Calculate the angle which represents

the pupil with a height interval of 115 < h < 125.

48. The mass of new secondary one students were recorded and shown in the table below.

40 to 49 50 to 59 60 to 69 70 to 79
43 36 P 10

It is given that the mean mass of the students was 52.2 kg.
(@) Find p and round off your answer to the nearest whole number.
(b) State the modal class of the above distribution.

(¢) State the median class.
(d) A student is picked at random, find the probability that the child has a mass that is less than 40 kg.
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49. A die with 6 faces numbered 1 to 6 is tossed and the scores are recorded in the table below.

(@) Write down the maximum value of x if the modal score is 2.
(b) Calculate the value of x if the mean score is 3.4.
(c) If the median score is 4, find the

(i) minimum value of x,

(i) maximum value of x.

50. The histogram below shows the salaries in thousand dollars of all employees in a company.

Frequency
S s

T 0 o8

28

12182024
‘Salary in $°000

(@ How many employees does the company employ?

(b) (i) Which class interval contains the median salary?
(i) Estimate the mean salary, correct to the nearest dollar.

(¢) Suppose the salary of every employee is increased by $400. Deduce and write down the corresponding
(i) class interval that contains the median salary,
(ii) estimated mean salary to the nearest dollar.

51. The possible scores for each time a game is played are 1,2, 3 or 4.

(@ Calculate the value of x if the mode, median and mean scores are the same.
(b) How many times was the game played?
(©) The score was repeatedly 4 for the next n games. Find the minimum value of » for the mode to be 4.
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